EEEH/INXIL36
F1 s6=16+

1 2 3 4
i| 4
2 16
3
4
5
6 10

1 2 3 2
FH/EDH/INXILE6
F2f 36=15+--

1 2 3 4
1
2
3 6 15
4
5
6 10




HEBHINXIL36

E3/ 36=12+-
1 2 3 4 5 6
12
3
3 12
6
i 2 3 2 5 6
HFEEEH/N XL 36
FAR s6=12+--
1 2 3 4 5 6
12 12
12




FEEEDH/IRXIL36
5 36=12+--

1 2 3
1
2 12
3
4 12
5
6 6
1 2 3
FEEEDH/IAXIL36
6] 36=10+-
1 2 3
1
2 10
3
4 10
5
6 4




HEBHINXIL36

FIE 36=10+ EVh ODBEBHAAHLLTT,
1 2 3 4 5 6
6 1
2
6 3
9 4
10 5
5 6
1 2 3 2 5 6
HFEH/AXIL36
FE8RY 36=9+-
1 2 3 4 5 6
1
9 2
9 3
9 4
5
9 6




FEEESH/NX)L36
HEOME 36=9+-

1 2 3
12
9
3
1 2 3
HFEEEH/N XL 36
FE 10 z6=8+
1 2 3
8
4
8




